www.rodavigo.net

Servicio de Att. al Cliente

page 65

Twin-Guide Cylinder




g

page 66

HAFNER]

Servicio de

Twin-Guide Cylinder

Technical information

Diameter

Stroke

Medium

Pressure range

Temperature range

Speed range

Versions

Materials
Body
Plate
Piston rod

Seals

I@G -8 -012- 316 - 320 - @25|- @32 - 340 - @50 - @63 mm
IA-CG04
A-CG02

A-CGOT

10-20-25-30-40-50-75-100-125-150-175 - 200 - 250 -
300 - 350 - 400 mm (A-CGO1)

10-20-30-40-50-60-70-80-90- 100 mm (A-CG02)

10-20-30-40-50-75-100- 125 - 150 mm (A-CG04)
Air
1,5... 7 bar (A-CG04)

0,5... 7 bar (A-CG02)
1...10bar (A-CGO1,CC))

-5°C ... +60°C (plain bearing)
-20°C ... +80°C (ball bearing)

50 mm/s ... 500 mm/s
Below 0°C air has to be dried.

A-CGO01, A-CG02, A-CG04 (plain bearing)
CCIG6, CCBG6, CCLG6, CCVG (ball bearing)

A C

Aluminum Aluminum
Carbon steel

@12 - @20 Stainless steel
@25 - @63 Carbon steel

Nickel-plated steel
Chrome-plated steel

NBR NBR, PUR




Servicio de Att.

H7
XA x6 WB 4-YY x YL
e —
DD
Y Y
N | (pXAH7
i N_A D
= | PR
|
212 - @32 | | —
Z|_ WA XX
Back side
S 4-¢ 0A
4N Q Z_ wa 4-?:) 0Bx 0L . L AN ML
5ol o / - G
- o 7 | - '/jﬂ
.{;e/ ) I\ ==
AL \NJ
| | D @) § —| =< g ) : - — 3%_ o <C
I H o = . 3| =
> 2P = H
797 Dimm©) | = = e
(2N - War 'l )
‘PXAH7><6 : g : - PA + Stroke = - LPB—I —q)XAWXB
FA |FB C + Stroke
B + Stroke E
@[mm] B © DA DB FA FB G GA GB H J K L MM ML NN
12 42 29 6 8 8 5 26 11 15* 58 13 13 18 M4x0,7 10 M4x0,7
216 46 33 8 10 8 5 30 11 18** 64 15 15 22 M5x0,8 12 M5x0,8
@20 53 37 10 12 10 6 36 10,5 9 85 19 19 24 WMb5x0,8 13 M5x0,8
@25 53,5 37,5 12 16 10 6 42 115 9 9% 21 21 30 M6x1,0 15 M6x1,0
@32 595 375 16 20 12 10 51 12,5 9 116 25 25 34 M8x1,25 20 M8x1,25
Jd[mm] OL P PA  PB PW Q R S T U VA X XA XB YY
@12 45 M5x0,8 14 8,5 18 14 48 22 56 41,5 50 23 3 3,5 Mb5x0,8
216 45 M5x0,8 15 10 19 16 54 25 62 46 56 24 S 3,5 Mb5x0,8
220 55 G1/8 12,5 11,5 25 18 70 30 81 55 72 28 3 3,5 M6x1,0
@25 55 G1/8 12,5 13,5 29 26 78 38 91 65 82 34 4 4,5 M6x1,0
@32 75 G1/8 7 16 34 30 96 44 110 80 98 42 4 4,5 M8x1,25

*When stroke length is equal to19 mm or less, GB = 7.5 mm

**When stroke length is equal to19 mm or less, GB = 9.0 mm [

page 67

OA
4,3
4,3
5,2
5,2
6,6

YL
10
10
12
12
16

OB

9,5
9,5
11,0

17
17
21




Servicio de

page 68
340 - 363 Rl
@ XAx XL
_‘ _
SRS 3 I—o |
X8 <| +R———— —- 8
XAHT) +
& ¢ o |
| \
XO _: = I_
) w | \x
& Wl w
Back side
4D bt K15 NI N2 AM gl 4-DD
T
° (H—— 0~ o el
<|w| o i @ < 59 - — e Y QI + Qo
=
"T’/@Q [ Heh 'Eﬁi'ijlh AN ’
« Ef GC GB| L2 /PB XAx‘XL
PA + Stroke B
L1 + Stroke
L+ Stroke
G [mm] A B Bl B2 C D DD E Et F G GA GB GC H K K1 L1
@40 120 54 27 27 106 M8x1,25 M8x1,25x20 104 30 44 86 14,0 10,0 14,0 40 118 12 44
@50 148 64 32 32 130 M10x1,5 M10x1,5x22 130 40 60 110 14,0 11,0 12,0 46 146 16 44
@63 162 78 39 39 142 M10x1,5 M10x1,5x22 130 50 70 124 16,5 13,5 16,5 58 158 16 49
@ [mm] M N1 P PA  PB Qi S VB W X XA XB XC XL YY
240 76,6-@11x7,5 22 G1/8 13 18,0 16 10 72 38 50 4 45 3 6,0 M8x1,25x16
250 78,6-0314,9 24 G1/4 9 21,5 20 12 92 47 66 5 6,0 4 8,0 M10x1,5x20
763 28,6-314,9 24 G1/4 14 28,0 20 12 110 55 80 5 6,0 4 8,0 M10x1,5x20
N2 WB L L2
@ [mm] |25 mm| 50-100 mm | 100~ mm | 25 mm | 50-100 mm | 100~ mm |25-50 mm| 50~ mm |25 -50 mm|50~mm| Q
340 24 48 124 34 46 84 97,0 102 31,0 36 @20
@50 24 48 124 36 48 86 106,5 118 34,5 46 @25
763 28 52 128 38 50 88 106,5 118 39,5 41 325

HAFNER]




N
<

| 6
212-16 = ] © ¢\ ¢O H - "‘
E | %
i ! ! | < ° 3 3
320+32 1 _‘ Q VarY 4 Fan - @
; o N e X
; . = r
a6 o esm H
— jj_‘ 7 !_—l( ‘ 5
ke o4 A * 0oty L fB0E]
@ [mm] A B C D E F G H | J K
o6 37 16 35 14 7 2-M3x0,5 28 16 2,755,5 8
712 46 18 44 16 8  2-M4x0,7 35 19 4,008,0 9
716 58 20 56 18 9 2-M5x0,8 45 25 5,0010,0 9
@20 64 25 62 23 11,5 2-M5x0,8 50 28 6,0012,0 12
@25 80 30 78 28 14 2-M6x1,0 60 35 6,0012,0 12
@32 98 38 96 36 18 2-M6x1,0 75 44 8,0016,0 14
@ [mm] Q QQ R RA RB S T
06 8,00 6,0 4-M5x0,8 225 11 45 -
@12 9,00 10,0  4-M5x0,8 30,0 8 55 -
16 10,00 10,0  4-M5x0,8 38,5 8 60 -
@20 7,75 12,5  4-M5x0,8 45,0 8 70 9,5
@25 8,50 15,0 4-G1/8 46,0 9 72 13,0
@32 9,00 19,0 4-G1/8 56,0 10 82 20,0
Z (stroke)
g [mm] 10~25 30~50 60~75 80 90~100 ZZ
76 10+1/2 Stroke** 58,8
?12 30 40 50 - - 72,0
716 25 35 45 45 55 79,0
@20 30 40 60 60 60 94,0
@25 30 40 60 60 60 96,0
@32 40 50 70 70 70 112,0

Servicio de Att.

page 69

77 + Stroke

*@6 - single side
**@6 - stroke (10-20-30 mm)

oK s sstroke
(Hae] |
R R
° 19
L M N (¢}
13 2-06,5x3,3* 2-M3x0,5 4
20 4-96,5x3,3 4-M3x0,5x5 6
30 4-8x4,4 4-M4x0,7x6 8
30 4-09,5x5,3 4-M4x0,7x6 10
30 4-011x6,3 4-M4x0,8x8 12
30 4-011x6,3 4-M4x0,8x8 16
TT vV w
3 4-M3x0,5x4,5 2-03,4
8.5 4-M3x0,5x4,5 2-M4x0,7
5 4-M4x0,7x5 2-M5x0,8
6,5 8-M4x0,7x5,5 2-M6x1,0
9 8-M5x0,8x7,5 2-M8x1,25
11,5 8-M5x0,8x7,5 2-M8x1,25

HAFNER]




Servicio de

page 70

2 6 2-M3x 0.5 (air inlet)

3 ) J 1 /,5, 105 (Max,)

5] x|/ T
o6 H © e (p/ -
el o
—IF 5 @) )
- el | ) & R o Y
o L
3 6.5 2-M2.5 x 0.45 3
2-M2.5 x 0.45 x3
K 125

Adjuster at extension end Adjuster at retraction end

% N-M3x 0.5 x 4 \ 4 55 S
| o B T e 1
Co@ , —— o)
s o1 T
d |2 s 1 ©o| o + ¢ -
PN E _f}@b\!—/ @5 = = +,,i‘%
A 5 © © S E\Jﬁ 4-M2.5%0.45x 35
2M3x 0555 10 |- F
3 25 N2-1)x F
g‘ 5 M )
| .
' D
z
(NN-1) xH
H G NN-M4 x 0.7 x 8
A B Al 5.5 1 55
; (B 00
i © .
1] @'é_‘@'_‘@_ —- = — - H
,-l Et' . :[ E
= 9 @ ¥y P [
+0.025 0 ) A-A B-B
3HO" x 25 HA GA
Stroke
[mm] F G GA H HA | o) K M N NN Z YA
10 20 6 11 25 20 10 17 22,5 42 4 2 41,5 48
20 30 6 21 35 20 10 27 32,5 52 4 2 51,5 58
30 20 11 31 20 20 7 40 42,5 62 6 3 61,5 68
40 28 13 43 30 30 19 50 52,5 84 6 3 83,5 90
50 38 17 41 24 48 25 60 62,5 100 6 4 99,5 106

HAFNER]




Servicio de

A-CG0O4

2 7 2-M5x 0.8 (air inlet)
35 J 6 9.5 (Max.)
8 I A
o |HF P8l |
3.8 7 NA-M3x 0.5 x 4
2-M3x0.5 x4
K 146
KA
Adijuster at extension end Adijuster at retraction end
\) ] 65
f ] Lot L
N == (oo
© © = C/ ﬂ
3 — 0@ —@- @1 g = O
reCe o
: 5
2-M4x 0.7 x 6 12 F
NV2-1)x F
N-M3x 0.5x 5
9 6, M |
| z
Y24
(NN-1)x H
H G NN-M4x 0.7 x 8
13 55
A .8 |
i &
O o——©@— o == s
- E _ 23 JOF
| P2 »& E | J°
+0.025 I-K I-E A-A
319  x3 HA GA
Stroke
[mm] F G GA H HA | J K KA M N
10 25 9 17 28 20 13,0 19,5 23,5 - 49 4
20 25 12 12 30 30 85 29,0 33,5 - 54 4
30 40 13 33 20 20 9,5 39,0 435 - 65 4
40 50 15 43 28 28 10,5 56,0 53,5 - 83 4
50 38 20 43 23 46 24,5 60,0 63,5 82,5 101 6
75 50 27 83 56 56 38,5 96,0 88,5 132,5 151 6

page 71
35
4-M3x0.5x4
D
13 55
|
ol
___:_ +_ =
©F
B-B
NA NN Z 7
2 2 48,5 56
2 2 53,5 61
2 3 64,5 72
2 3 82,5 90
4 4 100,5 108
4 5 150,5 158

HAFNER]




page 72

Servicio de Att.

20

9 2-M4x0.7 x5 2-M5 x 0.8 (air inlet)
4.75 J 8
12 0 & %
= I & N
s sol |07
Adj i « Pike NA-M4 x0.7x5
ljuster at extension end KA 185
Adjuster at retraction end
o CEi M - & \
- e L N\
Y o) Y o 7N
= B " BB > o , %
e} /J M \\\5_// w w | Nl © 1S ;QJ\TI
o © X
2-M5x0.8x8 N-M4x0.7x 5.5
008 (N/2-1)x F
P4HI0 %35
o 8 M
z
77
(NN-1) x H G
" NN-M5 x0.8x10
'.L |._B
B:f'\ o —)—0() @
B:= &IV & NZAN\Y v
*} I e
o x35 A l_T @ F? A-A
Stroke
[mm] F G GA H HA | J K KA M N
10 35 15 15 40 40 10 40 26,5 - 71 4
20 85 15 15 40 40 10 40 36,5 - 71 4
30 35 15 15 40 40 10 40 46,5 - 71 4
40 50 17 42 25 25 10 52 56,5 - 83 4
50 35 15 51 36 36 22 60 66,5 - 103 6
75 55 25 61 36 72 43 85 91,5 1255 149 6
100 65 35 111 38 76 52 130 116,5 116,5 203 6

4-M4x 0.7x6

gl

095

09

DE

o L \C I \C I \C I ()
a h W W MNDMNDDN

70
70
70
82
102
148
202

7z

80
80
80
92
112
158
212




Stroke
[mm]

10
20
30
40
50
75
100

Servicio de

page 73
3 11 2-M5x0.8 x 5.5 2-M5 x 0.8(air inlet)
55 ) J |10 135 (Max,)
il \
S T HY| o \b ]
H -@- N
T - -
[ © Q\_ T -
55 10
Adjuster at extension end K 21 NAMS x0.8x5.5
75 KA 12_,6
‘—“ - Adjuster at retraction end
P e - / =3 4-M5 x 0.8x7
Qiﬁ' N L"%d i TEET. II :
© ) Y«
~ [ A L AEA A w| o NN
— L@ /v & \_,,Oy &/ [ 8 © AN
i=cto I o
2-M6 x1x10 20 F
o ” W21 F N-M5x 0.8 x6
05HI O x4
9 10 M <
D
z
z
(NN-1) xH G NN-M6x1 x12
H 24 10
IS |
I uu ) o & 3
i ohl:1? |k
N LD DL o N
INZA A\ N D
N L Op]T |eF
\ H o 1 & D .
s / -
05H9 x4 A B A-A B-B
HA GA
F G GA H HA | J K KA M N NA NN Z Y4
35 16 16 40 40 10 40 29 - 76 4 2 2 75 87
35 16 16 40 40 10 40 39 - 76 4 2 2 75 87
35 16 16 40 40 10 40 49 - 76 4 2 2 75 87
40 16 16 50 50 10 50 59 - 86 4 2 2 85 97
30 21 51 30 30 15 60 69 - 101 6 2 3 100 112
55 26 61 85 70 40 85 94 125 151 6 4 4 150 162
65 39 109 35 70 55 118 119 173 199 6 4 5 198 210
70 19 159 35 70 68 155 144 223 249 8 4 7 248 260

125

HAFNER]




page 74

2-M6 x1x13

Stroke
[mm]

10
20
30
40
50
75
100
125
150

HAFNER]

58

2-M6 x 1x 6.5
3 13 2-G1/8(air inlet)
2520 65 i J 1,12 14.5 (Max)
< =Ty 1 -
~ g . - (D)
L\L‘_ B i 1) P\ S f_"
65 2 NA-M6 x 1x6.5
Adjuster at extensin end K 25
465 KA
Adjuster at retraction end
fl;»,ﬁ-*s;i. o =~ h o
r*\e’.i'/q m . j J h [y R
C 6©) - Hd
©)©
— o) — B0 -——©@ gl ©
] PG OO
Y X
i
l-_>25 F N-M5 x0.8x10
05HO 19008 <5 27 (N/2-1) x F
g 13 M
z
77
(NN-1) x H G
H
A B
-'_
H
@@ 4
H 5
o |H
P @
m? — —
o5Ho x5 HA A P
F B G GA H HA | J K KA
50 40 15 25 45 35 10 44 31 -
50 40 15 25 45 35 10 44 41 -
50 40 15 25 45 35 10 44 51 -
60 50 15 &3 55 &3 10 54 61 -
35 35 15 50 35 35 10 69 71 -
60 60 19 54 35 70 10 108 96 -
70 70 37 107 35 70 58 113 121 169
70 70 41 155 38 76 70 155 146 223
80 80 19 195 44 88 87 190 171 275

Servicio de Att.

30

30

+0.03

5HO ¥ x5

83
83
83
93
108
147
200
254
306

©® oo~ NDBN Z

pzd
>

A A DO NDMDNDMDNDMDNDDN

6-M5x 0.8x 8

01

NN

N O o B WONDMNDDNDDN

z

81,5
81,5
81,5
91,5
106,5
145,5
198,5
252,5
304,5

Y4

97
97
97
107
122
161
214
268
320




Stroke
[mm]

10
20
30
40
50
75
100
125

Servicio de

page 75
2-M8 x1.25x8.5
4 16 2-G1/8 (air inlet)
8, J |, 15 15.5 (Max.)
i
TSl bl
@25 i 1) -
CH- R inEr
8 12 NA-M8 x 1.25 x85
K 31
Adjuster at extension end KA
545 Adjuster at retraction end 22 7
7‘:;‘ . ¢ - 9 6-M6 x 1x 10
@ ] : é_gl
=\ o o o] }
"y ™
@ 0@ 60 ——® 5| =
f“ /V F - 3
S o o &
PO
2-MBx1.25x15 / 31 F N-MB x 1x13
. 30 (\/2-1)x F
Q‘6H9+'D x6
o 15 M 82
e
D
z
Y24
DA " & NN-MB x 1.2 x16
34 135
A e
| ~uu” A [T \
i Ol |27° J|c
17 Wiey W/ N o Y Y
_'_=u O G iJ » !¢= : F
S i S H -
. ® 1 ! B [ J , (1
—
o6Hed x6 HA A B A-A B-B
F FF G GA H HA | J K KA M N NA NN Z 7z
50 40 22 22 45 45 12 47 35 - 92 4 2 2 90,5 108
50 40 22 22 45 45 12 47 45 - 92 4 2 2 90,5 108
50 40 22 22 45 45 12 47 55 - 92 4 2 2 90,5 108
60 50 22 22 515 515 12 57 65 - 102 4 2 2 100,5 118
35 35 20 55 35 35 12 70 75 - 115 6 2 3 113,5 131
60 60 26 61 35 70 33 90 100 - 156 6 2 4 1545 172
70 70 32 102 35 70 50 114 125 162 197 6 4 5 195,5 213
75 75 40 154 38 76 67 155 150 218 255 8 4 6 258,5 271
80 80 30 190 40 80 82 180 175 258 295 8 4 7 293,5 311

150

HAFNER]




page 76

ﬁ

Servici

HAFNER]

USEFUL DEPTH

CCIG6
@10 mm 25+ Stroke oo P
y o
5
Q"'J 5 19+Stroke o 2
{D%
% 8 10.5+ Stroke )
DO&& . i @
=]
[fe]
0 g @
H Q9 | o= <] [©) o
C o @
— [
@5@ Y (7
o N
N
<© < &
B ? 7.5 \Q\ UQ 10
p aF 9.6 6.4+Stroke N
15 ,ca%
17
@12 - 363 mm A e
N /4R ﬁt DETAIL Y
DETAIL X J N Z|
m o (8]
2 LD g -
XC b
Ld
Wi
—
s
— 2 w Z
1 N4 HOLES YE L
DEPTH YH
|| N"4 HOLES VI
Va o— )
- = I I
H o =3 > &
- @ f*) hd 5 @
N"4 HOLES P | \
=_ ! : : ‘ \\ \ I
| oxA |.GA_| <] L
depth.xP  |F_| C +Stroke \N°4 HOLES M gXA| \N'4 HOLES YY
8 + Stroke E PASSING PASSING depth.XP USEFUL DEPTH YL

N°4 HOLES MM
ML

A +Stroke




. www.rodavigo.net

Servicio de Att. al Clie|

CCIG6

page 77
g[mm] B © DA F GA GB GC H J K L MM ML NN P PW Q R S
D12 42 29 6 7 10 7 18 58 5 26 18 M4 10 M4 M5 18 14 48 22
J16 46 33 8 8 11 8 18 64 5 30 22 M5 12 M5 M5 19 16 54 25

20 583 37 10 10 10,5 85 245 83 65 36 24
@25 533 375 10 10 11,5 9 25 93 75 42 30
@32 595 375 12 12 125 9 305 112 9 48 34
g4 66 44 12 12 14 10 31 120 9 54 40
g50 72 44 16 16 14 11 35 148 95 64 46
ge63 77 49 16 16 16,5 1355 35 162 11 78 58

13 M5 G1/8 25 18 70 30
15 M6 G1/8 28,5 26 78 38
20 M8 G1/8 34 30 96 44
20 M8 G1/8 38 30 104 44
22 M10 G1/4 47 40 130 60
M10 G1/4 55 50 130 70

mm##pwww§§§§§§§
N
N

Gmm] T U V X Y YL YE YH YI Z XF XP XB XC a b ¢ d
@12 56 41 50 23 M4 10 8 45 43 5 23 6 35 3 74 37 44 672
@16 62 46 56 24 M5 10 8 45 43 5 24 6 35 3 74 37 44 672
@20 81 54 72 28 M6 12 95 55 56 17 28 6 35 3 84 45 55 7,3
@25 91 64 82 34 M6 12 95 55 56 17 34 6 45 3 84 45 55 7,5
@32 110 78 98 42 M8 16 11 7,5 6,6 21 42 6 45 3 10,5 55 6,5 9,0
@40 118 86 106 50 M8 16 11 7,5 6,6 22 50 6 45 3 10,5 55 6,5 9,0
@50 146 110 130 66 M10 20 14 9 86 24 66 8 60 4 135 7,5 8,5 12,0
@63 158 124 142 80 MI10 20 14 9 86 24 80 8 60 4 17,8 10 11,0 16,5
Plain bearing Ball bearing
A E A E
@ [mm] (Stroke) (Stroke) DB @ [mm] (Stroke) (Stroke) DB
42 60,5 0 18,5 43 55 1 13
G (10-50) (75-100) (10-50) (75-100) 8 @12 (10-30)  (40-100)  (10-30)  (40-100) 6
46 64,5 0 18,5 46 66 0 20
2 (10-50) (75-100) (10-50) (75-100) 10 i (10-30)  (40-100)  (10-30)  (40-100) 8
53 84,5 0 31,5 53 85,5 0 32,5
620 (20-50) (75-200) (20-50) (75-200) 12 @20 (20-30)  (40-200)  (20-30)  (40-200) 12
585 85 0 31,5 53,5 86 0 32,5
oz (20-50) (75-200) (20-50) (75-200) 19 s (20-30)  (40-200)  (20-30)  (40-200) 12
97 107 37,5 475 97 107 37,5 47,5
@32 (25-50) (75-200) (25-50) (75-200) 20 e (25-50)  (75-200)  (25-50)  (75-200) 20
97 107 31 41 97 107 31 41
@40 (25-50) (75-200) (25-50) (75-200) = Al (25-50) (75-200)  (25-50)  (75-200) 20
106,5 118 34,5 46 106.5 114 118 34,5 42 46
@50 (25-50) (75-200) (25-50) (75-200) 25 @50 (25)  (50) (75-200) (25) (50) (75-200) 25
106,5 118 29,9 41 106,5 114 118 29,5 37 41
wge (25-50) (75-200) (25-50) (75-200) & se (25) (50) (75-200) (25) (50) (75-200) »
%} w w1 %} w w1
[mm] (Stroke) (Stroke) [mm] (Stroke) (Stroke)
20 40 15 25 45
@12 24 48 124 33 83
(10 - 30) (40-100) (10-30) (40-100) 932 (25) (50-100) (125-200) (25) g%%' (125-200)
g1 24 44 17 27 )
(10-30) (40-100) (10-30) (40-100) sio 24 48 124 34 gg )
ooo 24 44 120 29 39 77 (25) (50-100) (125-200) (25) (30~ (125.900)
(20-30) (40-100) (125-200) (20-30) (40-100)(125-200) 123)
oos 24 44 120 29 39 77 gso 24 48 124 36, 86
(25)  (40-100) (125-200) (20-30) (40-100)(125-200) (25)  (50-100) (125-200) (25) 444, (125-200)
ses 28 52 128 38 20 88
(25-50) (50-100) (125-200) (25)  Jo ) (125-200)

HAFNER]




Servicio de

page 78
DI | ccace
GA GC
PARTICOLARE X
© o o
LD O ‘Rl =
XC b :a

a

K
‘—“L LA < W z

Q
— 5 p — r==
_é N°4 FORI YE
PROFONDITA" YH
- N°4 FORI YI 1 X L
X 7 TN
Lo [ (o N ‘4§>F
| ¢ | o =

N

XF
X

INCEE | ¢ e
| N4 FORI P | @ @@ \ \\ |
\\i B GA | - leizl A wﬁ ) F\I%YL

N\
PW
—

N

prof.XP  |F | C +Stroke PASSANTI PASSANTI prof.XP
B + Stroke
A ++ Stroke

"4 FORI MM
FILETTO UTILE ML

d[mm] A B C DA F GA GB GC H J K L MM ML NN P PW Q R

@16 59 46 33 8 8 11 8 18 64 5 30 22 M5 12 M5 M5 19 16 54
@20 69 53 37 10 10 10,5 85 245 83 65 36 24 M5 13 M5 Gi1/8 25 18 70
@25 69,56 535375 10 10 11,5 9 25 93 75 42 30 M6 15 M6 G1/8 28,5 26 78
@32 81,56 59,5375 12 12 125 9 305 112 9 48 34 M8 20 M8 G1/8 34 30 96
@40 88 66 44 12 12 14 10 31 120 9 54 40 M8 20 M8 G1/8 38 30 104
@50 100 72 44 16 16 14 11 35 148 95 64 46 M10 22 M10 G1/4 47 40 130
@63 105 77 49 16 16 16,5 135 35 162 11 78 58 M10 22 M10 G1/4 55 50 130

gmm] S T U V X XF XB XC Y YL YE YH Y Z a b ¢ d

x
)

XA
@16 25 62 46 56 24 24 3 6 35 3 M5 10 8 45 43 5 74 37 44 62
@20 30 81 54 72 28 28 3 6 35 3 M6 12 95 55 56 17 84 45 55 7,3
@25 38 91 64 82 34 34 4 6 45 3 M6 12 95 55 56 17 84 45 55 7,5
@32 44 110 78 98 42 42 4 6 45 3 M8 16 11 75 6,6 21 10,56 55 6,5 9
@40 44 118 86 106 50 50 4 6 45 3 M8 16 11 75 6,6 22 10,5 55 6,5 9
@50 60 146 110 130 66 66 5 8 6 4 M10 20 14 9 86 22 135 7,5 85 12
@63 70 158 124 142 80 80 5 8 6 4 M10 20 14 9 86 24 17,8 10 11 16,5

HAFNER]




g

Servicio

CCBG6

page 79
Plain bearing Ball bearing
@[mm] DB @[mm] DB
716 10 16 8
@20 12 @20 12
@25 16 @25 12
@32 20 @32 20
@40 20 @40 20
@50 25 @50 25
63 25 263 25
W W1
@ Ll (Stroke) (Stroke)
516 24 44 17 27
(10-30)  (40-100) (10-30) (40-100)
o~ 24 44 29 39 77
(20-30)  (40-100) (20-30) (40-100) (125-200)
05 24 44 120 29 39 77
(20-30)  (40-100)  (125-200)  (20-30) (40-100) (125-200)
332 24 48 120 33 45 83
(25) (40-100)  (125-200) (25) (50-100) (125-200)
24 48 124 34 46 84
040 (25) (50-100)  (125-200) (25) (50-100) (125-200)
24 48 124 36 48 86
@50 (25) (50-100)  (125-200) (25) (50-100) (125-200)
28 52 128 38 50 88
@60 (25) (50-100)  (125-200) (25) (50-100) (125-200)

HAFNER]






